7th Grade – Order of Operations
Order of Operations with Roots and Exponents

Name: ____________________________________					Date: ________________
Complete the following worksheet in your notebook showing all work!
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=24+8 (#4-addition) &
=32

Ex.9 18+ 3%16 + 4057
Solution:
Since there are no parentheses, we start with step #2, exponents:
18 +3%4[16 + 457 (#2-exponents)
=18 + Qo4 + 425 (#3-division)
(#3-multipli
(#3-multipls
(#4-addition)

ttion)
ttion)

Ex. 10 (y81—8) + 362"+ 0e5
Solution:

({81-8)° +302° + 005 (#1-parentheses, #2-exponents)
=(9-8)°+302* +0e52  (#1-parentheses, #4-subtraction)
= (1) + 362* + 05° (#2-exponents)
=1+ 3016 + 0025 (#3-multiplication) |
+48 + 0025 (#3-multiplication) ‘

=1+48+40 (#4-addition)
=49
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= (1)° + 302* + 0057 (#2-exponents)
=1+ 3016 + 0025 (#3-multiplication)
=1+48+0025 (#3-multiplication)

+48+0 (#4-addition)
=49

Ex. 11 9% (24-12+3)+3e(5-2)

92— (24— 12 + 3) + 3¢(5 — 2)? (#1-parentheses, #3-division)
=9%—(24-4)+3e(5-2)° (#1-parentheses, #4-subtraction)

=92-20 + 3¢(3) (#2-exponents)
=81-20+3e9 (#3-multiplication)
=81-20+27 (#4-subtraction)
1427 (#4-addition)
=88
Ex.12  9'+6(7-2)+3-{8-[3— 416 ]}

Solution:

When there is a grouping symbol inside of another grouping symbol,
work out the innermost set. So, we will work out [3% — 4/16 ] first:

! + 6 16 ]} (#1-parent., #1-parent., #2-e;
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